EARAZROREIERT — 2 N—XBISY —F 2016512848 (H) 11EIE%I5H

PN eR 2 it ARYER] C 3 H5R—M ESRE IR
[AE£] 1 % :140,000 § ~ 27#:3500 M  3#&:18,000H ~ 47#:10,000 ™ ~ 57 :7,00 M
& %B WmEHR MK ME BF (&) 24 L (BE) | @BIBG | LOF |SIEH | AT | AE | BB FIB) / BE / £EKS
1 o| bTHANL Y b #o4 | BIUE 1:(2_4).3 2221 885 — | 1 | 505 g%ig (=)
R:xAIZHr—R BA—SLTU—X ) I NSEr 77—
o7 7 | H=kz H o9 slﬁs*gii’r 1:(2;).9 9-8-6-3 |39.7| — 2 490 ﬁ%é;ﬁ (=)
QT RIA YRR BiaETT N | ms
38l o ALY —L 4 4 St[l%#g‘ﬁl 1:53.8 8-9-7-5 |40.4| — 4 445 %ﬁgi (&%)
LALNTYFAE BRI TR Y- #8) | am wm
4 6| A —>T—I %9 | HEES 1(:32/%9 1-1-1-2 (414 — | 5 | 471 gzgg (&)
QAL vaTETEY B XTT 9 | Sa mp
5011|771 RX— i 4 | THIAE 1(727t§) 5534 (41.0| — | 7 | 403 Bﬂ(g*;_(éfrug
QAR MY (=7 B:TFTHAOL 02 | sigasg
6lglg|O—FrI774-2 # 8 ii”ﬁ;i;l%k (11:217/.23) 44-46 |41.3| — | 3 | 48 Eéfif?;
L:IT7IIxL BLTF1RE2—51 b (-6) TATAT7— A
715l 5| ¥22E=v =% f 4 | DAL Lm3 | eesT et | 8 z:g)s Fh B
I FE2Te BII7ANTAv IR ZAE-RKI7T7—L
3 g IVE=IXFIEK 4 9 ?gfsgék 1( 72{:31 6-6-7-8 | 41.0| — 6 504 ggg; (BH)
QO—YXA A1 A1 %IE— ) | yrrozayk
9 NPT PINL) Ho4 g;gﬁﬁz‘z 1:(25).3 7-7-9-9 |42.8| — | 9 | 512 Z’E;&(gﬁgm (=)
R:o07% BT INILY #0) | g
@ 1 —JF—@EBIEfr
13—7+— 6,2,5,8,1,3,4,9,7
23—+ — 6,2,5,8,1,3,4,7,9
33—F— |[6.2,1,85.7,(3.9) .4
41—F— 2,6,7,1,9,8,5,3,4
[ N5
B 2 150/ | | 21 K 2-7 130M | | #& = 27 180/ | | 3u#E 2-7-9 330
B B 2 100M 2-9 250 B E 2-7 210M 3EE 2-7-9 710/
7 100/ 7-9 200M | | B & 2-7 220M
9 220

ABICOVWTRDTEEERROODE. TR LIV,



